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\- Harry's son is eighteen, he is naturally ................c........... to drive a car.

A) too old B) Such old C) so old D) old enough
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Y- the teacher told his. students that the books ................. from the library must be returned soon.
A) were borrowed B) borrowing C) borrowed D) which borrowed
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F-We ... fir the bus for over an hour under that heavy rain before it arrived. rain a cold.
A) shouldn't have wait B) mustn't wait C) shouldn't wait D) mustn't have waited
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¢- if my friend .......c.cooeee a million dollars, he would certainly start his own business.
A) would win B) wins C) won D) has won
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0- It was a very good carand, ...........ccceuuunnneenn. the price was quite reasonable.
A) even enough B) moreover C) however D) otherwise
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1- the school gave them a generous ............ccc.ccee..... of money with which to purchase.
A) reduction B) promotion C) allocation D) Combination
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Y- the athlete ....... avoids sweets and starchy foods so that he can keep his weight down
A) promptly B) purposefully C) consequently D) frankly
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A- certain chemicals should be banned since they are ..................... to the environment.
A) continuous B) ambiguous C) adventurous D) hazardous
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